STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE

19 910.

Date Commission Expires

DESCRIPTION OF WELL AND LEASE	SW . SE . SW Sec. 34 Twp. 9 Rge. 12
Operator: License # 3956	
Brungardt Oil & Leasing Co	330 Feet from SN (circle one) Line of Section
Address Box 871	3630 Feet from EW (circle one) Line of Section
	Footages Calculated from Nearest Outside Section Corner: NE. (SP), NW or SW (circle one)
city/State/Zip Russell, KS 67665	Lease Name Brant Well # 3
Purchaser: N/A	Field Name Cheyenne Gap
Operator Contact Person: Gary L Brungardt	Producing Formation None
Phone (<u>913</u>) 483-4975	Elevation: Ground
Contractor: Name: Shields Drilling Co., Inc.	Total Depth
License: 5184	Amount of Surface Pipe Set and Cemented at 954
Wellsite Geologist: Brad Hutchinson	Multiple Stage Cementing Collar Used?YesXXXX
Designate Type of Completion	If yes, show depth setFee
WYX New Well Re-Entry Workover	If Alternate II completion, cement circulated from
OIL SVD SIOW Temp. Abd.	feet depth tow/sx cmt
If Workover/Re-Entry: old well info as follows:	Drilling Fluid Management Plan DAA 974 5-15-97 (Data must be collected from the Reserve Pit)
Operator:	Chloride contentppm Fluid volumebbl
Well Name:	Dewstering method usedEvaporation
Comp. Date Old Total Depth	Location of fluid disposal if hauled offsite:
Deepening Re-perf. Conv. to Inj/SWD Plug Back PBTD Commingled Post-fe Wa	Operator Name 9-26-96 3 3
	Lease NameLicense No. 2
7-09-96 7-15-96 7-15-96	Quarter SecTwpS Rng. DEV
Spud Date Date Reached TD Completion Date	County Docket No.
THETRUCTIONS. An acidical	
Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on 12 months if requested in writing and submitted with the months). One copy of all wireline less and submitted with the	L be filed with the Kansas Corporation Commission, 200 Colorado f the spud date, recompletion, workover or conversion of a well. side two of this form will be held confidential for a period of form (see rule 82-3-107 for confidentiality in excess of 12 report shall be attached with this form. ALL CEMENTING TICKETS LLs. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promule with and the statements herein are complete and correct to the statement of the statements herein are considered as the statement of	

API NO. 15- 141-203160000

Osborne

K.C.C. OFFICE USE ONLY Letter of Confidentiality Attached \overline{L} Wireline Log Received J Geologist Report Received Subscribed and sworn to before me this 25th day of Distribution A. V KCC SWD/Rep MEPA KGS Plug Other 41 (Specify) CINDY HOSS State of Kansas My Appt. Exp June 1, 2000.

perator Name	Brungardt C	il & Leasing Co	Lease Name	Brant	· · · · · · · · · · · · · · · · · · ·	Well # _	3 3
		Fast	County			······	
e. <u>34</u> Twp. <u>9</u>	Rge. 12	면 Yest			·		<i>:</i>
STRUCTIONS: Show in sterval tested, time drostatic pressures, more space is neede	tool open and bottom hole to	d closed, flowing ar emperature, fluid rec	nd shut-in press	ures. Voeth	or shutein pres	BUTT PERCI	ING BERFIE CAAA
ill Stem Tests Taken		₩ Yee □ No	∑ XX.₀,	Formation	(Top), Depth a	nd Detums	☐ Sample
(Attach Additional mples Sent to Geolog		□ yes ⊠¤ke	Name		Тор		Detum
res Taken	i dat dativey	Yes XXX	Anhyo	lrite	943		+ 941
ectric Log Run (Submit Copy.)		Xes D No	Lans	ing K-C	3111	,	-1227
st All E.Logs Run:			 See	attached s	geologist re	port for	r additional
Radiation	n Guard Log			formation		•	
			1				
	Report al	CASING RECORD	New U		production, etc	·	
Purpose of String	Size Hole	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Secks Used	Type and Perce
Surface		8 5/8"	28	954	40/60 _{Pozmix}	325	-
			 	 	 	 	1
<u> </u>		ADDITIONA	L CEMENTING/SQUE	EZE RECORD	<u> </u>	<u> </u>	
Purpose:	Depth		 #Sacks Used	<u> </u>	Type and Percen	t Additive	. ,
Perforate Protect Casing	Top Bottom	type of Coment	1	 	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
Plug Back TD Plug Off Zone			<u> </u>	 			
	PERFORATIO	N RECORD - Bridge Pl	ugs Set/Type		Fracture, Shot,		queeze Record Depth
Shots Per Foot	Specify Foots	ge of Each Interval	Perforated	(Amount an	nd Kind of Mater		00000
		<u> </u>					
						*	
TUBING RECORD	Size	Set At	Packer At	Liner Run	/ 🗆 _{Yes} 🗆	No e	need I
Date of First, Resum	med Production	, SWD or Inj. Proc	ducing Method	Flowing Po	umping Gas t	.ift 🗆 o	
Estimated Production Per 24 Hours	<u> </u>	Bbls. Gas N	Hef Wat	er Bbls	Gas-Oi	Ratio	Gravit
Disposition of Gas:	,		ETHOD OF COMPLET	e marine to	And		Production Inte

SWIFT FORMATION

1309 VAN FLEET

PHONE 793-5177

GREAT BEND, KANSAS 67530

GREAT BEND,	KANSAS 67530	DATE	13-96	s ss == 1, 20 kpg
GREAT BEND.	116	15-141-	20316	
ADDRESS BOX 871 RUSSELL	165. 6766	5	· · · · · · · · · · · · · · · · · · ·	
LEASE BRANT WELL NO	3	COUNTY OS	BORNE	
DEPTH 3125	то	3125	TEST	NO
TOOL JT. 41/2 FH SIZE HOLE TIE				
INITIAL HYDFINAL HYD				
INITIAL SHUT-IN - HR 30 MIN.: TOOL OPEN	HR. 30 MIN.	FINAL SHUT-IN_	НГ	R 30 MIN.
INVOICES SENT TO:	· · · · · · · · · · · · · · · · · · ·		·····	
INITIAL FLOW PERIODMINUTES				
BLOW: WEAK TUTERMITTENT	THIW-OUT		·	
REMARKS:	······································	<u> </u>	**************************************	
RECOVERY: 20' SHIGHT OIL GUT MC	103 W 600	ne Fize	2 01	
	***************************************		·	
NITIAL SHUT-IN PRESSURE 142 INITIAL FLOW PRESSUR	RE 58-58+	_FINAL FLOW PI	RESSURE 5	8-58#
FINAL SHUT-IN PRESSURE 101# FIELD ORDER NO.		_PRICE OF JOB	\$ 60x) <u>∞</u>
EXTRA EQUIPMENT	· · · · · · · · · · · · · · · · · · ·	_OPERATOR TIME		
SWIFT FORMATION TESTERS APPROVED BY: 1000 - HUTCHINSON	Shall not be liable personnel of the o suffered or sustaine equipment, or its stany test. Tools lost cost by the party for	ne for whom a d, directly or inc atements or opin or damaged in	test is made lirectly, throu nion concern the hole sha	e, or for any loss igh the use of its ing the results of
OUR REPRESENTATIVE & 2 200 & C.		TICKET	No	5930
l				ec dis appl

MAGE STO SALAND CONTAIN

1309 VAN FLEET

PHONE 793-5177

ORIGINAL

GREAT BEND. KANSAS 67530

GREAT BEND.	DATE
COMPANY BRUMGARAT OIL & Leas	SING 15-141-20316-00-00
ADDRESS RUSSell 165.	
EASE BIZANT WELL NO.	3 COUNTY OSBOTNE
DEPTH 317.3 TESTED FROM 315	8 to 3173 test NO. 3
TOOL JT. 41/2 FH SIZE HOLE 77/8	SIZE PACKER 63/4 MIS-RUN NO.
	1505 # SUCCESSFUL NO
	HR. 30 MIN.: FINAL SHUT-IN HR. 30 MIN.
NVOICES SENT TO:	
NITIAL FLOW PERIOD 30 MINUTES	
BLOW: Weak Steady Thru-out	Test
REMARKS:	
RECOVERY: 50° SAIT water	
·	
NITIAL SHUT-IN PRESSURE 1867 F INITIAL FLOW PRESSUR	E 50-58 € FINAL FLOW PRESSURE 69-75 €
INAL SHUT-IN PRESSURE 1067# FIELD ORDER NO.	PRICE OF JOB \$ 6000
EXTRA EQUIPMENT	OPERATOR TIME
SWIFT FÖRMATION TESTERS	Shall not be liable for damage of any kind to the property or personnel of the one for whom a test is made, or for any loss
:	suffered or sustained, directly or indirectly, through the use of its equipment, or its statements or opinion concerning the results of any test. Tools lost or damaged in the hole shall be paid for at
APPROVED BY:	cost by the party for whom the test is made.
OUR REPRESENTATIVE TO OUT	TICKET Nº 5932
	·

Mimoo ganasa Manas comin Manas as as as and

SWIFT FORMATION TESTERS ORIGINAL

1309 VAN FLEET PHONE 793-5177
GREAT BEND, KANSAS 67530 DATE
COMPANY BRUNGARDT BIL : Leasing 15-141-20316-00-00
ADDRESS BOX 871 RUSSEIL, U.S.
LEASE BIZANT WELL NO. 3 COUNTY OS HOTNE
DEPTH 3155 TESTED FROM 3134 TO 3155 TEST NO. 2
TOOL JT. 412 FH SIZE HOLE 778 SIZE PACKER 674 MIS-RUN NO.
INITIAL HYD. 1511 3 FINAL HYD. 1490 # SUCCESSFUL NO.
INITIAL SHUT-IN HR. 30 MIN.: TOOL OPENHR. 45 MIN.: FINAL SHUT-INHR. 30 MIN.
INVOICES SENT TO:
INITIAL FLOW PERIOD 95 MINUTES 45-30- 45-30
BLOW: WEAK THRU-OUT TEET
REMARKS:
RECOVERY: 1' Clean OIL 29' Very Slight Oil Specked Watery Min.
29' VERY SLICHT OIL Specked Watery MID.
INITIAL SHUT-IN PRESSURE 698 # INITIAL FLOW PRESSURE 25-25 FINAL FLOW PRESSURE 33-33#
FINAL SHUT-IN PRESSURE 370 # FIELD ORDER NO. PRICE OF JOB \$ 605 00
EXTRA EQUIPMENTOPERATOR TIME
SWIFT FORMATION TESTERS Shall not be liable for damage of any kind to the property or personnel of the one for whom a test is made, or for any loss

suffered or sustained, directly or indirectly, through the use of its equipment, or its statements or opinion concerning the results of any test. Tools lost or damaged in the hole shall be paid for at cost by the party for whom the test is made.

APPROVED BY:

OUR REPRESENTATIVE _

TICKET -

No

5931





WELL LOG

- Russell, Kansas

Operator:

Brungardt Oil & Leasing Co.

Well:

Brant #3

Commenced: July 8, 1996

Completed: July 16, 1996

Contractor: Shields Drilling Co.

CASING RECORD

Size

Run

Pulled

8 5/8"

954'

Cmtd. w/325 sax

Well Description: SW SE SW

Sec. 34-9S-12W

Osborne Co., Kansas

Elevation:

1,884'

Treatment:

Production:

Tops:

15-141-20316

Shale

Anhydrite

Shale

Shale & lime

Lime

944'

977'

2,685'

2,987'

3,450' RTD

en and of the charter

INVOICE

HALLIBURTON

P.O. BOX 951046

DALLAS, TX 75395-1046

INVOICE NO.

ORIGINAL

103584 07/09/1996 との子のでは、WELL'LEASE NO!/PROJECT ** *** WELL/PROJECT LOCATION ** ** ** TOWNER . . . BRANT 3 OSBORNE KS SAME SERVICE LOCATION # 4 *** JOB PURPOSE TICKET DATE CONTRACTOR > 1 CHAPTER HAYS SHIELDS DRILLING CEMENT SURFACE CASING 07/09/1996 FILE NO. BURTON BEERY 002088 COMPANY TRUCK 10542

15-141-20316-00-00

DIRECT CORRESPONDENCE TO:

CARY BRUNGARDT

DBA BRUNGARDT OIL & LEASING CO

529 E. 14TH, BOX 871

RUSSELL, KS 67665

P O BOX 428 HAYS KS 67601 913-625-3431

Torrestion to			and the same of th	1 19	
FRETERENCE NO.	DESCRIPTION DESCRIPTION	QUANTITY	W UM 1, * 12.2	UNIT PRICE	AMOUNT FOR
ericing Al	REA - MID CONTINENT		1.1		
000-117	MILEAGE CEMENTING ROUND TRIP	: 130	MI	2.99	388.70
		1	UNT		
001-016	CEMENTING CASING	1000	FT	915.00	915.00
		· 1	UNT	ند	
030-503	-WOODEN PLUC	8 5/8	f	95,00	95.00
	and the second s	· 1	EA .		
504-316	CEMENT - HALL. LIGHT STANDARD	225	SK 🗥	8.80	1,980.00
504-136	CEMENT - 40/60 POZMIX STANDARD	100	SK	7.90	790.00
506-121	HALLIBURTON-GEL 2%	2	LB	.00	N/C
509-406	ANHYDROUS CALCIUM CHLORIDE	3	SK	40.75	122.25
507-210	FLOCELE	. 56	LB	1.65	92.40
500-207	BULK SERVICE CHARGE	335	CFT	1.35	452.25
500-306	MILEAGE CMTG MAT DEL OR RETURN	916.695	TMI	1.05	962.53
and the second second					
٠	INVOICE SUBTOTAL	#4 *		; †	5,798.13
	DISCOUNT- (BID)				2,203.27-
	INVOICE BID AMOUNT				3,594.86
	A 7711010 0 00000 00000	; *		A 488	
	*-KANSAS STATE SALES				136.54
	*-HAYS CITY SALES TAX			'	27.87
				 -	
				1	

INVOICE TOTAL - PLEASE PAY THIS AMOUNT

\$3,759.27

REMIT TO: P.O. BOX 951046 DALLAS, TX 75395-1046

> INVOICE NO. DATE. 103888

INVOICE

ORIGINA

07/16/1996

WELL'LEASE NO / PROJECT WELL!/PROJECT LOCATION ** STATE A COWNER OF THE PARTY BRANT 3 OSBORNE KS SAME . SERVICE LOCATION & MANUSCONTRACTOR 主意。文章。 JOB PURPOSE CYKE SHIELUS DRILLING #2 PLUC TO ABANDON 07/16/1996

ACCT. NO. C CUSTOMER AGENT A CONTROL VENDOR NO. CUSTOMER P.O. NUMBER SHIPPED VIA 1 FILE NO. 002088 KENNY DINKEL CONPANY TRUCK 10971

15-141-20316-00-00 DIRECT CORRESPONDENCE TO:

GARY BRUNCARDT DBA BRUNGARUT OIL & LEASING CO 529 E. 14TH, BOX 871 RUSSELL, KS 67665

P 0 BOX 428 HAYS KS 67601 913-625-3431

REFERENCE NO.	DESCRIPTION	QUANTIT	Y*, ***	ZUM :	UNIT PRICE	*** AMOUNT
RICING A	KEA - MIL CONTINENT					
000-117	HILFAGE CEMENTING ROUND TRIP		130	MI	2.99	388.70
			1	UNT		
090-910	MISCELLANEOUS PUNPING JOB		1	TRK	650.00	650.00
030-503	WOODEN PLUG	8	5/8	IN .	95.00	95.00
			1	EA		
	CEMENT - 40/60 POZMIX STANDARD		155	SK	7.90	1,224.50
506-121	HALLIBURTON CEL 2%			LB	.00	N/C
507-277	HALLIBURTON-GEL BENTONITE .		5	SK	18.60	93.00
507-210	FLOCELE		3.9	T.B	1.65	64.35
500-207	BULK SERVICE CHARGE		167	CFT	1.35	225.45
500-306	MILEACE CHTG MAT DEL OR RETURN	430	674	THI	. 1.05	452.21
	INVOICE SUBTOTAL					3,193.21
	DISCOUNT-(BID)					1,053.73-
	INVOICE BID AMOUNT			•		2,139.48
	*-KANSAS STATE SALES TA	X				104.83
	*-HAYS CITY SALES TAX					21.39
		1				

INVOICE TOTAL - PLEASE PAY THIS AMOUNT

\$2,265.70